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Sketch the graph:


f(x) = x2e-2x
1.
Find and state the domain.


Look for x or y intercepts

2.
Look for discontinuities by studying the domain and determine whether or not they are vertical asymptotes.


Set the limit of the function to infinity to study end behaviour, and determine whether horizontal asymptotes exist.
3.
Find critical numbers and use second derivative test to determine whether or not the critical numbers are local maxima or minima.
4.
Set the second derivative to zero to determine points of inflection.
5.
Build a table to determine the intervals of concavity.
	Intervals
	2e-2x
	1 - 4x + 2x2
	f´´(x)
	solution

	x < 0.29
.29< x <1.71
x > 1.71

	
	 
	 
	


6. Pick a few more points to finish.

